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] . [4] In general, charge on a conductor under static conditions is distributed:

A uniformly through the volume of the conductor.
B non-uniformly through the volume of the conductor.
C uniformly over the surface of the conductor.

@ non-uniformly over the surface of the conductor.

Z . [4] The tangential part of the electric flux density is continuous across a surface, S.
Which one of the following statements must be true?

A The surface charge density on S is zero.

B The surface charge density on S is non-zero.
@ The dielectric constant is the same on both sides of S.

D The dielectric constant is the same on both sides of S and the surface

charge density on S is zero.
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